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There are  30  questions in Section A and  15  questions in Section B. 

The diagrams in this paper are not necessarily drawn to scale. 

Choose the best answer for each question. 

 

 

Section A 

 

 

1. =+ )2(3 xxx    

 

  A. 43x  .
 

 

  B. 52x  . 

 

  C. 53x  . 

 

D. 62x  . 

 

 

 

 

 

2. If  )2(313 −=+ ba  ,  then  =b    

 

  A. 1+a  .
 

 

  B. 3+a  . 

 

  C. 
3

7
+a  . 

 

  D. 
3

5
−a  . 

 

 

 

 

 

3. =−−− qpqp
22    

 

  A. )1)(( −−+ qpqp  .
 

 

  B. )1)(( −++ qpqp  . 

 

  C. )1)(( +−− qpqp  . 

 

  D. )1)(( −+− qpqp  . 
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8. The figure shows the graph of  bxxay +−= 22  ,  where  a  and  b  are constants.  Which of the following 

is/are true?   

 

 I. 0>a  

 II. 0<b  

 III. 1<ab  

 

  A. I  only 

 

  B. II  only 

 

  C. I  and  III  only 

 

  D. II  and  III  only 

 

 

 

 

 

9. The solution of  34 −> xx   or  73 +<− xx   is 

 

  A. 2−>x  .
 

 

  B. 2−<x  . 

 

  C. 1−>x  . 

 

  D. 2−<x   or  1−>x  . 

 

 

 

 

10. John buys a vase for  6001$  .  He then sells the vase to Susan at a profit of  20% .  At what price should 

Susan sell the vase in order to have a profit of  20% ? 

 

  A. 2402$
 

 

  B. 3042$
 

 

  C. 4002$
 

 

  D. 5002$
 

 

 

 

 

11. If the circumference of a circle is increased by  40% ,  then the area of the circle is increased by   

 

  A. 18% .
 

 

  B. 20% . 

 

  C. 40% . 

 

  D. 96% . 

 

 

x 

 y  

O 

bxxay +−= 22  
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25. If the point  )1,2( −−   is reflected with respect to the straight line  5−=y  ,  then the coordinates of its image 

are  

 

  A. )1,8( −−  . 
 

 

  B. )9,2( −−  . 

 

  C. )11,2(−  . 

 

  D. )1,12( −  . 

 

 

 

 

 

 

 

 

 

26. The coordinates of the points  A  and  B  are  )3,1( −   and  )7,5(−   respectively.  If  P  is a point lying on 

the straight line  2+= xy   such that  PBAP =  ,  then the coordinates of  P  are 

 

  A. )0,2(−  .
 

 

  B. )2,2(−  . 

 

  C. )2,0(  .
 

 

  D. )5,3(  . 

 

 

 

 

 

 

 

 

 

27. The equation of a circle is  0312822 22
=+−++ yxyx  .  Which of the following are true? 

 

 I. The coordinates of the centre of the circle are  )3,2(−  . 

 II. The radius of the circle is  7 . 

 III. The point  )3,2(   lies outside the circle. 

 

  A. I  and  II  only 

 

  B. I  and  III  only 

 

  C. II  and  III  only 

 

  D. I ,  II  and  III 
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33. If the roots of the quadratic equation  032
=+− xkx   are  α  and  β ,  then  =+

33
βα   

 

  A. 3k  .
 

 

  B. kk 33
−  . 

 

  C. kk 93
−  . 

 

  D. kk 123
−  . 

 

 

 

34. If  x  is a real number, then the real part of  )3)(3( iix ++   is  

 

  A. x3  .
 

 

  B. 3+x  . 

 

  C. 33 +x  . 

 

  D. 33 −x  . 

 

 

 

35. The nth term of a sequence is  32 +n  .  If the sum of the first  m  terms of the sequence is less than  0003  , 

then the greatest value of  m  is  

 

  A. 52 .
 

 

  B. 53 . 

 

  C. 56 . 

 

  D. 57 . 

 

 

 

 

36. Let  1>b  .  If  ba 12log=  ,  then  =

a

1
 

 

  A. 
12

1
logb  .

 

 

  B. 12logb  . 

 

  C. 
b

1
log12  . 

 

  D. 
12log

1

b

 . 
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43. Mary, Tom and  8  other students participate in a solo singing contest.  If each participant performs once only 

and the order of performance is randomly arranged, find the probability that Mary performs just after Tom. 

 

  A. 
2

1
 
 

 

  B. 
10

1
 

 

  C. 
45

1
 

 

D. 
90

1
 

 

 

 

 

 

44. The mean, the variance and the inter-quartile range of a set of numbers are  40 ,  9  and  18  respectively. 

If  5  is added to each number of the set and each resulting number is then tripled to form a new set of 

numbers, find the mean, the variance and the inter-quartile range of the new set of numbers. 

 

    Mean         Variance  Inter-quartile range 

 

  A.   120   27    69
 

 

  B.   120   81    69  

 

  C.   135   27    54  

 

  D.   135   81    54  

 

 

 

 

 

 

45. Let  A  be a group of numbers  },,,{ δγβα   and  B  be another group of numbers  

}2,2,2,2,2{ +++++ δγµβα  ,  where  δγµβα <<<<  .  Which of the following must be true?  

 

 I. The median of  A  is smaller than that of  B .   

 II. The range of  A  and the range of  B  are the same.   

 III. The standard deviation of  A  is greater than that of  B .   

 

  A. I  and  II  only 

 

  B. I  and  III  only 

 

  C. II  and  III  only 

 

  D. I ,  II  and  III 

 

 

 

 

END OF PAPER 

 

 


